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Question #1:                                                                                           

1.1) A horizontal angle is measured as 148.2352g. Determine its value in 
DEG and Radian units.                            (ULO#1/CLO#1 / k-kpi#43 =2 mark) 
       

                   360                              400                          2 π 

                      X                          148.2352g                    Y 

                   X = 
148.2352∗360

400
    = 133o  24'  42.05''  

                 Y = 
148.2352∗2∗ π

400
 = 2.3285 radian 

1.2) Calculate then select the correct answer:  
 (ULO#2/CLO#2 / a-kpi#4 =3 mark) 

 
1) An American football field with 360 ft length and 160 ft width, So its area 

equals? 

a) 28800 ft2 b) 5351.2 m2 

c) 4800 ft2 d) 1.274 Fadden 

 

 

 

2) The distance between two cities is measured as 152.4 miles, this distance 

equals: 

a) 254.508 yards b) 804.672 ft 

c) 245.264 km  d) None of the above 

 

 

Good Luck 


